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Input : 10100111001 
Initial state : A 
State : A→B→D→A→F→F→B→B→B→D→D→A Output : 01001100110 
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Truth table 
Y3 Y2 Y1 Y0 X D3 D2 D1 D0 Z 1 0 0 0 0 0 x x x x x 2 0 0 0 1 0 0 0 1 0 1 3 0 0 1 0 0 0 0 1 0 0 4 0 0 1 1 0 x x x x x 5 0 1 0 0 0 1 0 0 0 0 6 0 1 0 1 0 x x x x x 7 0 1 1 0 0 x x x x x 8 0 1 1 1 0 x x x x x 9 1 0 0 0 0 1 0 0 0 0 10 1 0 0 1 0 x x x x x 11 1 0 1 0 0 x x x x x 12 1 0 1 1 0 x x x x x 13 1 1 0 0 0 x x x x x 14 1 1 0 1 0 x x x x x 15 1 1 1 0 0 x x x x x 16 1 1 1 1 0 x x x x x 17 0 0 0 0 1 x x x x x 18 0 0 0 1 1 0 0 0 1 1 19 0 0 1 0 1 0 1 0 0 0 20 0 0 1 1 1 x x x x x 21 0 1 0 0 1 0 1 0 0 0 22 0 1 0 1 1 x x x x x 
23 0 1 1 0 1 x x x x x 24 0 1 1 1 1 x x x x x 25 1 0 0 0 1 0 0 0 1 0 26 1 0 0 1 1 x x x x x 27 1 0 1 0 1 x x x x x 28 1 0 1 1 1 x x x x x 29 1 1 0 0 1 x x x x x 30 1 1 0 1 1 x x x x x 31 1 1 1 0 1 x x x x x 32 1 1 1 1 1 x x x x x
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Z,x=0 Z,x=1 
Y1Y0 Y1Y0 
Y3Y2 00 01 11 10 Y3Y2 00 01 11 10 00 x 1 x 0 00 x 1 x 0 01 0 x x x 01 0 x x x 11 x x x x 11 x x x x 10 0 x x x 10 0 x x x 
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State diagram:
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3. (16%) Design a sequence deectorthat has one input w snd one output 2. The detector produces 7 =
e thepevios o npt o wre G 11 otherwig 2= 0
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4. (16%) A sequeatial circuit has two flip-flops A and B, one imput x and anc outpu 2. The stak disgram
{sshown n e Fllowing g Desgn e e it D logs g | bot e gt
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S. (18%) A sequential ciecuit with two D lip-flops A and B, two inputs. X and ¥, and one cutput Z is
pecied b e ko g ot et
DXBXY Dy VB ZYAB.
Draw the logic diagram, derive the stte table and the stte diagram of this circuit,
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L. (L9%) Comakier the tining diagun in Figums 1(s). D snd Clock s the inpats 1 the clovais in Figos
5. Dr h el ofthe . o ad Q.
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Figure 1(b)
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